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(A) (B)

(C) (D)
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(A) 9 (B) 21

(C) 327 (D) 39
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(A) 0 (B) 90

(C) 160 (D) 900
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��� ���v 
2 = u2 + 2as ���‘u’ ���(����

(A) v 
2 – 2as (B) asv 22 +±

(C) asv 22 −± (D) 2as – v2

��� 1������–1 ���
������
���4��������

(A) ax2 – x – 1 = 0 (B) ax2 – 1 = 0

(C) x2 = 1 (D) x2 + 1 = 0

��� ��� ∑ =
abc

a 0 ���� ∑ =
abc

a ..........3

(A) 0 (B) 1

(C) –3abc (D) 3abc

14. 1! × 3! × 0! ���(����

(A) 6 (B) 0

(C) 3 (D) 1

��� ���
5������6����7�
����∠PAO = 30°����∠POQ��
����

(A) 60° (B) 120°

(C) 90° (D) 30°

P

AO

Q



www.S
tu

dy
Guid

eI
nd

ia.
co

m

�����

���� ��������

������������		�
��

��� )�����*��+���4�8�	���4��������

(A)
x

x
81

4 = (B) 5
1 =+
x

x

(C) (x + 2)2 = 3x (D) 5 – x2 = x
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II. ��������	
���	���
 [10 × 1 = 10]

��� ���A ,� #�����.���m × n������B ,� #�����.���n × p ��
�����A × B ,� #�����.���<<<<<<<<

��� �	����
���6�����6=>���	������4���������
���������#?�6=>���<<<<<<<<<

��� ���P������Q #
��@�A���B>���#
�������P – Q = P ��� QP ∩ �C�<<<<<<<<

��� �!�D ��0�������0�
���!��������������E�<<<<<<<<<

��� ��4���!4')	F>��������
��<<<<<<<<<�����
�

��� �����!�������G>H���
�� ��<<<<<<<<<<

�	� ybxa + ������!�I�������<<<<<<<<

�
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�� ��<<<<<<<<<<
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III. )�����#/����0��#�� "���

��� 25 ��
���	
���8�����B>�����8 ��
���&�A���#�������O�7 ��
���&�A�����P&�+����������� 4 ��
����#�
��������P&�+�#����
Q#���
�
���������#��(��������P&�+�������M�����
���	����	2������G >���
�����6����

�R4��� [2]

��� px2 + 3x + 2 = 0 ������������
�8��������!�M�������
���,�-����#
����‘p’ ���(��������G>��
[2]

��� x2 + 1 = 8x�� �����/���
����������
F>��� [2]
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[2]
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21
A  ��� AA ′  ���(��������G>�� [2]

��� ��
���!�������������!�
�T>���������K>��:&��
B>�
��K>�;�8������
'������������
���!����
#���8�����

�������
��
�U���0����
��� �R������V [2]

�	� T>
�������������������������'�����W�� [2]

3223

3223

−
+

�
� 4 4 ������ 3 3 ���	����!������������ [2]

��� 8����������6�������
����@������32 ��B>�������%
�&�'�60 ��*�����B>����#
�����$�������	�������
X	������G>�� [2]

���	�
�



www.S
tu

dy
Guid

eI
nd

ia.
co

m

�����

���� ��������

������������		�
��

��� 8�����P5�!������
����Y���������������6������R4��5��0���
��� �������!	F>�'5����R	� ��������
�
��
�����AB = 25 �9�����������	���BC = 44��9�������
����������#�
��M���R	� ��
�3�&�'����G>��

[2]

��� ��
�������
����!-����������9�������0����������)F>�����G>���:0����20���B>��= 1��9����; [2]

D ��S����B>���7�


140

120 C ��F>
�60

E ��F>
�80 100

50 B ��F>
�40

A ��� �

��� ���U = {1, 2, 3, 4, 5, 6, 7, 8, 9}

A = {x : x #��10��
%���#������
���� �4���4��	2��}

B = {x : x #��10��
%���#������
�������*���4����	2��}

����F>��'��Z� ( ) B ABA ′∩′=′∪ [2]

��� �!�������,�-���.����
�
20

1
T7 = ������

38

1
T13 = �����!�������,�-���.����
���#�
�������G>�� [2]

��� S = {2, 4, 6, 8} �
��!��������
�����	���10 �
��P��
�
����
[>������������� [2]
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5���,� #�����.�&��:���;����G>�� [2]
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220

��� )�������
5���3���6�����K>���!���
�� ���F>��' ���#�� [2]

�	� 4 �9����� ��\�

��� ��!4'���100°� ��� ���
�� �����M��� ��
�� ��\��� ���G>��� ��\�9
��� ��
Q#�� B>�
���� �
-��R4�������G>�� [2]

�
� �!��
"����.����
���#�
����64 ���������Q���!��
"��� ‘r’ ��#
����#5����������*]������	���������
140 ��#
����‘r’����(��������G>�� [2]

IV. 49. ���a + b + c = 2s ��

( )bs

s

bccba

abcba

−
=

+−−
+−+

2
2

222

222

 ��
���I������ [3]

��� ^^��!4'������_�(�� � �����G>�
5���-��R4���������������``�#
���I������ [3]
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��� )��������	����������������������0���������������G>�� [3]

�	D��a
�� ���	�����

20 - 24 2

25 - 29 3

30 - 34 5

35 - 39 3

40 - 44 2

��� 8������.��
�B>��	3���16�)
'�F >���#
���$���*��+�5�&��	���O�4���
�	���������/��
�
���4��
�!)��)
'�F >
��#
���3�&��	���O�2���
�	���������/��
�
���4��
�!)�����
�
�11����	�
� �������	3�����������
�
����V [3]

��� (x3 – 9x2 + 26x – 24)������(x3 – 6x2 + 11x – 6) ��	���������������G>�� [3]

��� 8�����RF>��
�����������B>�
���(D����� ��2.4���B>���	��������#
���RF>������	���2.6���B>���� ����
�RF>�� (D�������)F>��+
���)�������F>
���-�R4�����
������RF>��
�����������B>�
��� (D����F>
�1.4
��B>���	������������5�����RF>���)F>��+
����������F>
���-�R4�����
������)F>��+���/	���������V

[3]

V. 55. �	���������.����7�
�7�,��������������B>�#��11�,������
��������,����B>����
�����#
������K>���

���R Q����#
���
���I������ [4]

��� ^^�����������
��	���%
�&�'
��	������ 
������4
���0������������``�#
���I������ [4]

�	� 3��9����������2��9����� ��\�9
�����
����!4'�7�������	���9��9�������#
����� $�����
Q#����!4'�	��
���b4�����	��-��R4�������G>���-��R4�
������	�����
���������F>��' ���#�� [4]
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�
� y = x2������y = 6 – x�������
)����G>�������x2 + x – 6 = 0  #
�����������
F>��� [4]




